normalized X2

[ normalized x? probability |

chiz chiz_prob
— Entries 292183 Entries 292183
107Y - | Mean 1075 =t vean 05511
Std Dev 1085 + [stdpev 03234

chiz Shiz_pro
2 _[Entries 292174 0.05 Entries 292174
10 Mean 1075 Mean 05512
Std Dev 1.083 Std Dev 03234

M 0.04 R A

chi2 chi2_prob
1072 Entries 792430 Entries, 792430
Mean 1.076 Mean 05509
Std Dev 0.03] Std Dev 0.3235

. 0.02
. 0.0:
o B

= M

© . .

24 S

ok

.o N

IR A . 0.95 . . .
12 14 16 18 20 0 010203040506070809 1
x? Prob(x?)

.
A F .
= r . . .
=] - .,
IR | S S I S
~
SO U A et .
v -
Lap- . N o .
1 2:__ === DQM_V0001_R000000001__Global__mKFit_1ikstable
*“F | s DQM_V0001_R000000001__Global__mkFit_CANDIkstable
1f-- | === DQM_v0001_R000000001_Global _mKFit_1kswitch
F | === DQM_V0001_R000000001__Global__mkFit_CAND1kswitch
0.8fgs - ot eebeene teeees s PR |

o
o
WRIRERE L

0.4f---
0.2F---
8+
T
o
0.95 . . i i i
32 1 0 L 2z 3
n
A A
5 5
{=4 c
< <
Vv \%

Ratio
Ratio

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


